ﬂh Multiplying Decimals (Visually) Name:

Use the visual model to solve each problem. Answers
1) 4x069=
1.
2.
3.
2) 2x03=
4,
5.
6.
3) 3x0.33=
4) 4x03=
5 3x0.18=
6) 3x09=
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C:h Multiplying Decimals (Visually) Name. Answer Key

Use the visual model to solve each problem. Answers
1) 4x0.69= 276
N /100 = 2.76
6
2. 10 — 0.6

12
2) 2x0.3= 4 10=12
54
. /100 = 0.54
27
6. /10 27
3) 3x0.33=
4) 4x03=
5 3x0.18=
6) 3x09=

M ath cocosheets.com/sheet/1377508 1-6 [83]67|50[33[17] 0 |
www.CommonCoreSheets.com




	Worksheet
	Answer Key

